Balancing Chemical Equations Practice Worksheet

Balance the following chemical reactions.

1 NaNO,+__ PbO->__ Pb(NO),+__  NaO
2 Agl+__ FefCO),>__ Fel,+ Ag,CO,

3  CHO+_  0O,»__ CO,+ H,0

4 _ 7ZnSO,+__ Li,CO,>_ ZnCO,+__ iSO,
5 VO, +__ CS->_  Cd0+__ VS,

6  Mn(NO),+  BeCl,>  Be(NO),+_ _ MndCl,
7 _ AgBr+_ GaPO,»>__ Ag,PO,+__ GaBr,
8  HSO,+__  B(OH),»>___ B(SO),+____ HO
9 S.#  O==_ SO

10  Fe+ AgNO,> _ Fe(NO,,+__ Ag
1 NaPO,+_  KOH>__ NaOH+____ KpPO,
12 MgF,+ Li,CO,>  MgCO,+ __Lif

13 P+ O,~» P,O,

4 RbNO,+__ BeF,~ Be(NO,,+ _ RbF
15 _ AgNO,+_ Cu->__ Cu(NO),+__ Ag
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Answers
1 PbO-> 1 Pb(NO3)2 +
Fe,(CO,),> _2 Fel,+_3 Ag,CO,
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